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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

QAT FETgH 370 U9 U3 9 ATHh 3T AR e |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. |t YT HA F A9 T
All the questions are compulsory.

3. S U T IR &I TE STW-YRAH 7 & G |
Write the answer to each question in the given answer-book only.

4, S U H 3 T @S ¢, 39 9 o IR Th H1Y & oE |
For questions having more than one part the answers to those parts
are to be written together in continuity.

5. U UA % Bl T SN ®URR H HEN YR B I / IR/ SREN g
W g AT & YT H Tl T
If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should
be treated valid.
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Section
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1-10
11-18
19-27
28-30

Q. Nos.

1-10
11-18
19-27
28-30

4

6
Marks per
question
1
2
4
6

7.  UYH S 28, 29 AN 30 H I {H ahcd ¢l

Question Nos: 28, 29 and 30 have internal choices.

gug — A
Section - A

1. BIHAT IRIMHT S <l AR QU |

I W TS T

10 s
20 s
30-40
250-300 5
Word limit

of answer
10 words
20 words
30-40 words
250-300 words

Write the meaning of diminishing rate of substitution.

2. T R Y ?
What is demand function ?

3. TR TFATT F T 3T TR |

Give an example of market economy.
4. TEHST W HT A E ?

What is meant by long run period ?

5. W H T EE TEIH B A A G

Write the name of Keynes's famous book.

6. TR % Gdo A T SR FATH |

Give the meaning of velocity of circulation of money.
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7. WA % R 6% B A AG|

Write the name of central bank of India. 1
8. THRI 5 ¥ N A § 2

What is meant by Government budget ? 1
9.  TET I HeT HAT T HH-9T HRe 47 3T FAT & ?

Which factor determines speculation demand for money ? 1
10. YSThISI =T FEd & ?

What is fiscal deficit ? 1

g - o
Section - B

11. = T& Fafe T | He & RN TR

Give any two differences between Micro- and Macro-economics. 1 + 1
12.  JUHRHN &1 TLAH TN T I AT T =5 SR

Draw a diagram showing optimum combination of consumer. 1+1
13. 310U ¥R SR i Hrel g1 SRdreit sl Sooid i U |

Mention any two characteristics of oligopoly market. 2
14, 39 I Td HE GO 5 @R T i S|

Clarify the difference between average revenue and marginal revenue.

2

15. Thel AT 3R Ua Fohol BYC] SIS hl STTLRUMS i THT |

Discuss the concepts of Gross National Product and Gross Domestic

Product. 2
16. ST I Shi o el gt T AT I JUH i T |

Describe any two main functions of commercial banks. 2
17.  3TR &7 STHT 34T F1 & 2 qHeSU |

What is reserve deposit ratio ? Explain. 2
18.  TOI9T T[UTh I W SHAT i TET H THEEU |

Explain briefly the process of investment multiplier. 2
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g - 9
Section - C

19. TSl SUT FIH hi SARAT i ST |
Explain the law of variable proportions. 4
20. IRV H I T IR THEA TE Fo TIGA AN F SR W TR
31T TINTA el STeehTell |IHT= STRTd 3hi 70T 3l 51T
T FeT T It AT TR 3T USRI HT=
(ghrean) (%0) T (To) AT (Fo)
1 30 e
2 10 /8 e\ IV L= = ....
3 i3 \eoo——— .. n L ...
4 53 J—agl R Y N [V § | ©
Calculate short run average cost and short run marginal cost on the
basis of units of output and total variable cost in the given table :
Output Total variable cost Short run Short run
( units) (Rs.) Average cost Marginal cost
(Rs.) (Rs.)
1 30 0000 e e
2 40 e e
3 48 e e
4 52 e
8 x % =4
21. U 9%k M E 2 Th ®F & Yid a5k I L1 T I ATl i A dedl Geimey |
What is supply curve ? Suggest any three elements which determine
supply curve of a firm. 3+1
22. TH YHR Hl T I T ! 5T | TeHT GHRT Fl e A I THE |
Define monopoly. Describe any three conditions of a monopolist. 1 + 3
SS—10—Econ.
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23. T hd HHPI I HE™dT § LT 3T S TOMT i ST

() IR HEd R FHA T 3G 1000 FIE Fo

(i) HeIBTH 200 FIE To

(iii)  3TITET R 150 IS To

(iv) 3FRH 250 TR To

Calculate national income with the help of following data :

(i) Gross National Product at market price Rs. 1000 crore

(i) Depreciation Rs. 200 crore

(iii) Indirect Taxes Rs.- 150 crore

(iv) Subsidy Rs. 250 crore

4

24, HEF I I SAEGIIF S Bl 3 TH UG T T SIATE 2 FHROT T

S|

Why is central bank treated as lender of last resort for commercial

banks ? Clarify with reason. 4
25. RMTH I Y 3T F47 GHSA € ?

What do you understand by parametric shift ? 4
26. USIT WIGTE § T F AU § 2 YN Wit s Fel &t Hal 6 Seord

! T |

What are meant by capital receipts ? Mention any two items of capital

receipts. 1+3
27. TR HeH Ud SAUR He & 3R &l T Hl 54 |

Clarify the difference between balance of payments and balance of

trade. 2+2
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Qg -

Section - D

28. HNT Tl AT o= T FAT T THF & 2 AT Dl HFd A Hl el aR F 0=
=l FHET |
SIBEI
HT 1 ST T i SATAAE o 9 Sl T 9 GHAEC |
What is meant by price elasticity of demand ? Explain any four
categories of price elasticity of demand. 2+4
OR
Explain the geometric. method of price  elasticity of demand with
diagram. 6
29. 3TCUHT ST AT Uel SIEehTATT 3G AN shl 9 & AN i 57U |
SIREI
STCUTHIA HIT TN Ud SR FETT AN i § =5 SR Fi 57U |
Explain short run' average cost and long run average cost with
diagram. 2+2+2
OR
Explain short run marginal cost and long run marginal cost with
diagram. 2+2+2
30. ‘‘Hehel We] S § U g5 FHodIT &l Gab el el €17 AT H IS diF
Tl o SMER T T HI
SIPEI
T STTIROMST i T I 57T
() ST FEGE TS I SRy
(i) T oY Ue 3 qH T
(i) WheT A WS A O |
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"Every increase in gross domestic product is not the indicator of

welfare." Clarify the statement on the basis of any three arguments.

2+2+2
OR
Distinguish between the following concepts :
() Consumer goods and capital goods
(ii)) Intermediate goods and final goods
(il) Gross investment and net investment. 2+2+2
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